



## Vendor Ranking

Page 1 of 1

**Letting:** 02260121 January 21, 2026 11:00 AM **Call Order:** 006 **Contract:** E21W2-R0  
**District:** District 2 **Counties:** BAKER, COLUMBIA, DIST/ST-WIDE, HAMILTON, MADISON, SUWANNEE **Fed Aid No:** N/A  
**Contract Time:** 365 CALENDAR DAYS **Project(s):** 41021267220 (\*)  
**Contract Desc:** Apply herbicide to interstate fence lines areas.

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ASAP EXTERMINATORS LLC	Responsive	Winning bid	\$45,762.00	100.00%
2	CURB APPEAL SEVICES INC	Responsive	Non-Winning Bid	\$50,800.00	111.01%
3	NEXUS CONTRACTING INC	Responsive	Non-Winning Bid	\$56,709.78	123.92%
4	DJK AG SERVICES, INC.	Responsive	Non-Winning Bid	\$56,930.00	124.40%
5	ALPHA-OMEGA TRAINING AND COMPLIANCE INC	Responsive	Non-Winning Bid	\$67,510.00	147.52%
6	HIGHER GROUND LAND SERVICES, LL	Responsive	Non-Winning Bid	\$70,852.00	154.83%
7	QUALITY LAKE MANAGEMENT, INC	Responsive	Non-Winning Bid	\$71,192.00	155.57%
8	CLEAR ZONE MAINTENANCE, INC.	Responsive	Non-Winning Bid	\$96,060.00	209.91%
9	BOONE IMPROVEMENTS, INC.	Responsive	Non-Winning Bid	\$146,950.00	321.12%

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*



## Tabulation of Bids

Page 1 of 4

Letting: 02260121 January 21, 2026

**Call Order: 006**

**Contract:** E21W2-R0

**District:** District 2

**Counties:** BAKER, COLUMBIA,  
DIST/ST-WIDE,  
HAMILTON, MADISO  
neas. SI IWANNEE

**Fed Aid No:** N/A

Project(s): 41021267220 (\*)

**Contract Time:** 365 CALENDAR DAYS

WILSON,  
SUWANNEE

This work document driven contract consists of furnishing and applying selective herbicides to roadside vegetation to treat undesirable weeds, grass and brush.

undesirable weeds, grass and brush on Interstate Fence lines & outfall ditches on I-10 & I-75 within the Lake City Operations area in Baker, Columbia, Hamilton, Madison & Suwannee counties. **RENEWAL OPTION.**

Digitized by srujanika@gmail.com

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ASAP EXTERMINATORS LLC		(2) CURB APPEAL SEVICES INC		(3) NEXUS CONTRACTING INC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (CHEM WEED AND GRASS CONTROL (AC)</b>								
0005	E580337 2 HERBICIDE (STRIP APPLICATION)	974.000 AC	45.00000	43,830.00	50.00000	48,700.00	56.50000	55,031.00
0010	E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)	42.000 AC	46.00000	1,932.00	50.00000	2,100.00	39.97100	1,678.78
<b>0001 CHEM WEED AND GRASS Section Totals: CONTROL (AC)</b>			<b>\$45,762.00</b>		<b>\$50,800.00</b>		<b>\$56,709.78</b>	

**Contract Grand Totals:**      **\$45,762.00**      **\$50,800.00**      **56,709.78**



## Tabulation of Bids

Page 2 of 4

Letting: 02260121 January 21, 2026			Call Order: 006		Contract: E21W2-R0			
Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) DJK AG SERVICES, INC.		(5) ALPHA-OMEGA TRAINING AND COMPLIANCE INC		(6) HIGHER GROUND LAND SERVICES, LL	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (CHEM WEED AND GRASS CONTROL (AC)</b>								
0005 E580337 2 HERBICIDE (STRIP APPLICATION)		974.000 AC	55.00000	53,570.00	65.00000	63,310.00	68.00000	66,232.00
0010 E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)		42.000 AC	80.00000	3,360.00	100.00000	4,200.00	110.00000	4,620.00
<b>0001 CHEM WEED AND GRASS Section Totals: CONTROL (AC)</b>				<b>\$56,930.00</b>		<b>\$67,510.00</b>		<b>\$70,852.00</b>
<b>Contract Grand Totals:</b>				<b>\$56,930.00</b>		<b>\$67,510.00</b>		<b>70,852.00</b>



## Tabulation of Bids

Page 3 of 4

Letting: 02260121 January 21, 2026			Call Order: 006		Contract: E21W2-R0			
Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(7) QUALITY LAKE MANAGEMENT, INC.		(8) CLEAR ZONE MAINTENANCE, INC.		(9) BOONE IMPROVEMENTS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (CHEM WEED AND GRASS CONTROL (AC</b>								
0005 E580337 2 HERBICIDE (STRIP APPLICATION)		974.000 AC	58.00000	56,492.00	90.00000	87,660.00	125.00000	121,750.00
0010 E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)		42.000 AC	350.00000	14,700.00	200.00000	8,400.00	600.00000	25,200.00
<b>0001 CHEM WEED AND GRASS Section Totals: CONTROL (AC)</b>				<b>\$71,192.00</b>		<b>\$96,060.00</b>		<b>\$146,950.00</b>
<b>Contract Grand Totals:</b>				<b>\$71,192.00</b>		<b>\$96,060.00</b>		<b>146,950.00</b>



**Tabulation of Bids**

Page 4 of 4

---

**Letting:** 02260121    **January 21, 2026**    **Call Order:** 006    **Contract:** E21W2-R0

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*